Chemistry Aptitude Test - 2021
Stage - I (For Class : IX)

Full Marks : 50 Time allowed : 1.30 hours

Instructions: Answer all the questions. There are 30 MCQ (1-30) in Grooup
A having 1 mark each. 0.25 mark will be deducted for wrong answers. Group B
contains 10 questions (31—40) having 2 marks each.

Group —A
Multiple choice questions : 1x30=30
1.  Octavalent elementis : |
"~ (a) Radium  (b) Osmium (c) Boron (d) Helium
SRCAG! Gt 251 —
(@) AfER  b) PR (o)W (d) R
2. Which one of the following elements give polyatomic molecule ?
(@ Ne (b) P (c)Ni (d) Cu
- Tea el R TerEmRT o P IR 2
- (a) Ne (b) P (c) Ni (d) Cu
3. ° Atomic mass of helium atom is 4u and two protons in its nucleus.
- How many neutron is present in that nucleus ?
(@) 4 (b) 2 (c) 6 (d1
FRferattr AR Wy 4u 9 7 FERRITT 36 c@ftn 76wm 1 @
fAefFaIe: Mg wut v ¢ |
(a) 4 (b) 2 (c) 6 (d1
4.  The number of electron in the atom of an element Z is 15 and the

number of neutron is 16. Which of the following is the correct
representation of the atom of this element ?

3% 31 16 15
JOR ®) 7 © 7 @ 2
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7 Tinea srawgrs 150 2reaga gae | 6fb fBha 78wt | AHAA ¢

& c=fda smwiga #w foa o "
11 3 16 (d 7 (
4 (¢c) Z )
@ l.f ) l67 : ) 15 16
S. Wheo discovered neutron ?
(a) J. Chadwick (b) Dalton
(c) Bohr (d) Rutherford
& RS wiftwm atas ¢
(d) amracars

(a) (= FMSTRF  (b) ©EGR  (c) (@4
An atom with 3 protons and 4 neutrons will have a valency :

6.
(a) 3 (b) 7 (c) 1 (d) 2
90 *1re f=1S c21ibm «az brafd fEha =iz | swiyfBa carers = 2
(a) 3 (b) 7 (c) 1 (d) 2
7. Which isotope is uscd as a fuel in nuclcar reactor ?
(l) U (b) () c (d) cn L
m::ﬁas mmﬁwzz mqwﬁmcmqﬁm ra ?
(a) 230 (b) Co (c) C (d) CI
92 27 6 17
8.  Who was known as father of nuclear physics ?
(a) N. Bohr (b) E. Goldstein
(c) Rutherford (d) J. J. Thomson
e e vz w== e & +fafe ¢
(a) N. Bohr (b) E. Goldstein
(¢) Rutherford (d) J. J. Thomson

9.  Heaviest subatomic particle of an atom is
(a) Electron (b) Proton (¢) Neutron (d) Meson

GG AT FACETA SR SAoArANA T PN %o —
(a) Zo1g= (b) c=ibs (c) fA®h= (d) R
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10.

1]

12

13.

14.

15.

How many moles present in 6.4 g of 50,7

(a) 2 (b) 3 () | (d) 0.1

6.4 &I SO, & I (& T

@2 ., (O3 (c) 1 (d) 0.1

Gram molecular mass of CH ,O, is :

(a) 180 ¢ (b) 90 g (c) 100 g (d)342 ¢
CH,,0, & &N AT 3Py 257 —
(a) 180 ¢ (b) 90 g (c) 100 g (d)342 ¢
Molecular formula of baking-soda is :

(a) KHCO, (b) Na,CO,

(c) NaHCO, | (d) None of them

QR e SRS A5TES 25 -

(a) KHCO, y (b) Na,CO,

(c) NaHCO, (d) G AR |

Atomicity of ozone is :

(@) 1 (b) 2 (c) 4 —(d) 3

CTAH GF AR 2 —

(a) 1 (b) 2 - (04 (d)3 |
The total number of different types of ions obtained from 1 molecule |
melted sodium chloride is : . '

(a) 1 (b) 2 (c) 3 (d) 4

1919 o1 GRifemt ks (e Gesn RS e it )t
m o

(@) 1 (b) 2 (c) 3 (d) 4

The element named after Sun is :
(a) Carbon  (b) Hydrogen -(c) Helium (d) Sulphur
G NS 0 AMeere o7t =i i e —

(a) 3T (b) AZGIE () BRmN  (d) AT
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16.

1.

18.

19.

Size of colloidal particle in a colloidal solution is :

(a) 10%cmto 10cm (b) 102cmto 10~*cm
(c) 10”7cm to 10%cm (d) None of them
AT T A U GIPIR ZT —
@) 10%emto 10%cm  (b) 102cmto 10%cm
(c) 107cmto 10-%cm - (d) 9R P2 T |
The process of change of gas into liquid is :
(@) Sublimatibh (b) Evaporation

() Condensation = = . (d) Fusion

(a) TP  (b) i (o) TS (d) St

The relation betweeq one atm. and pascal is : _
() 1atm=1.01x 10 Pa (b) 1atm=1.01 x 10* Pa

© Tatm=15x10°Pa  (d) Iatm=1.06x 10° Pa
| STOTARPATR 3R AT 7 ST 7o S 2y —

(a) 1atm=1.01x 105 Pa (b) 1atm=1.01 x 10 Pa
(¢) latm=1.5x10° Pa (d) 1atm=1.06 x 10° Pa

The intermixing of particles of two different types of gas is called :
(a) Effusion  (b) Osmosis _(c) Diffusion  (d) Evaporation

'zﬁ%mwascn@%mwmmqﬁ&vmmaﬁmﬁm—
. @ ST ) wfewmm () e
20, **

Which of the following will show “Tyndal effect 9
(a) Water

h ~+(b) Milk
(¢) Aqueous solution of Nacl (4) A ;

- queous solution of sygar
R TS Beyroe Aeiq ° 2
(a) T&1 ‘

(¢) Nacl 93 && vy
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21.

22.

23.

24.

23

26.

Which of the following is not a chemical change ?

(a) Rusting of iron (b) Melting of gold
(c) Digestion of food (d) All of them
R L AT ARTET 77 ¢ |
(a) CIRIT 6! Aol (b) G o
ORIEKEIS (d) o TR
The correct formula is :
/(a) AIN (b) Al PO,  (c) Ca(NO;), (d) Na,HCO,
RIPERN S TG E ‘
(a) AIN (b) ALPO, (c) Ca(NOy), (d) Na,HCO,

Which of the following is metalloid ? '

(a) Gold (b) Silver _(c) Silicon (d) Mercury
A G &g 5 ¢

(a) Gt (b) Tt (c) Fifereen (d) #itzm
Which of the following is a cbmpound ? <.

(a) Sulphur  (b) Silicon  _(c) Silica (d) Selenium
pilCERSC R et oI S |

() e - (b) e,  (c) P (d) GCeTiws

Which of the foiloWing substance is used to detect water ?

(a) Anhydrous NaZSO 4 (b) Anhydrous CuSO,
(c) Anhydrous AL(SO,), (d) All of them

TEF I Ao SR AAGFACT TIT@ 2 2

(a) W% N4,SO, ~ (b) 9IE CuSO,

(c) wﬁ AL(SO,), (d) GO ARt

Which of the following salt is odourless ?

(@ NH,Cl  (b) NaCl () (NH,),CO, (d) (NI—L)ZSO
o @I 7R SR 2

(a) NH,Cl  (b) NaCl () (NH,),CO, (d) (NH,),SO,
- [ Page 5 of 8]



27, A gas can be liquified by :
() Increasing temperature
(b) Lowering the pressure

(¢) Increasing the pressure and lowering the temperature
(d) None of them.

43D I @1 1 A —
(a) SxetIfa I (b) Bl Z I
(©) PR e S gmIEm - (d) GO R

28. A saturated solution can be made unsaturated by :

(@) Adding more solute - (b) Adding more solvent
(c) Decreasing temperature ~ (d) All of them

G TG TN ST{@ 1 717 —

(2) SRS TR i 303 (b) w6 TR fifere w0
© TwOIIE . (d) aoEeReE "

| 29.  15% (V/V) alcohol solution means -
(a) 15 galcohol is mixed with 100 gH,0

+(b) 15 ml alcohol is mixed with 85 m] H,0
(¢) 15 mlalcohol is mixed with 100 m] H,0
(d) 85 mlalcohol is mixed with 15 milk H,0
15% (V/V) SOITPIZeT 93 B0ers) el 3y —
(@) 15 g T 100 g et s w1 zg |
(b) 15 ml SUTTCIE 85 ml & e vt gy
(¢) 15 ml SHIETCE 100 m] W%Wml
(d) 85 ml SPITCHIZ 15 ml S RS 3t 2t

30. Anion is formed when an atom :

(a) Loses electron (b) Loses proton

(c) Loses proton and electrop (d) Gains electron

54
b
s
i," '
i
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TR DOR 20 w0 S e —
(a) Zrergh= et wew (b) T2B e wm
(€) T 9= Rewrl= witet (d) Brevals sz ar

Group - B‘
Answer the questions as directed : 2x10=20
(Rof Sepia emarem Se W)

31.  Theaverage atomic mass of a sample of oxygen is 16.2 u. What are

the percentages of isotopes l(E) and lg) in the sample ?

Wm@mmwmwmmm
S @x '§> G =N SR TS 2

32. Anatom of an element has two electrons in the outermost M Shell. 4
- Answer the following : : Yo liude =

el . L

(i) Electronic configuration of the atom
(ii)) Atomic number
(iii) Name of this element

. (iv) Valency of this element

B G IR 7Reg. M 0w 7 Zeerel e | e




34.

35,

37:

38.
39.

40.

g

Arrange the following molecules in term of increasing number of
atoms (show the calculation).

(a) 18gmH,0

(b) 32gmO,

(c) 4gmH,

R skt aum wiamwmmmﬂf%@ | (ot
i) |

(@) 18gmH,0

(b) 32gmO,

(c) 4gmH,

Why solid CO, is known as dry ice ?
e+ CO, WWW sAffde e 2

The elements are identified by their atomic numbers, not by their
mass number — Explain.

TS G sRmiger Iz At Bire a1 2, amwzmmm—
IJIA I

- Asolution contains 40 gm of NaCl in 280 gm of water. Calculate the

mass by mass percentage of the solution.

G T 40 gm NaCl 280 gmwﬂwml & BT ©3/eq
S NGt sttt 79 | -

Calculate the actual mass of 5 molecules of CO

599 CO, 97 &3PS ©F sl 1|

Why Na® is more stable than Na ?
Na SIC#%! Na® 381 Jf%e @+ 2

Find the percentage composition of carbon ang h
ydrogen in methane.
FITATA 1T R RRTGITSoF a1 »ifypy SEE ]

i




